0000 1100 00 (O 40)

oo ogooor
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[4-Q1] 00000
10000000 ¥(e,t) 000000, 00
p(,t) = [¥(z,1)* (1)

O00o0o0ooooOoOoo.oooooo j(z,t) O

) ih 0 . *2
jlz,t) = 3 \Il(x,t)%\ll(x,t) —U(z,t) ax\I/(:U,t)

ooooo.

1. Hamiltonian H = —%% +V(x)DDOOO Schrodinger 00000

000000 ¥v(z,t) OO0, 000000000(M@OODO)
op(x,t) 0 .
= t)=0 2
oooooobooa.
2. 0000000000,0000,0000000000 (k,w,a,k €
R AcC).

U(x,t) = Aexp(tkz — iwt),

U(x,t) = Aexp(—z/a —iwt),
“+oo 1 . . .
Y(z,t=0)= Aa/ dk—=—=e~ (k=ho)*/2gike

oo m
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Remark. OOO0O0OO0,30000 vector OO O,

j(x,t) = % [¥(x,t) VI (x,t)" — ¥(x,t)"VI(x,t)] (3)

goooag.

[4-Q2] 100000000

Potential

0 (z <0),
V@%_{%>0 (x> 0). )

O,z=—-co0000000 FOOODODOOOOOOODODOOOO.

1.000000 WwW<pEpOOO,O0DOO,00000D0O0O.
Hint. 0000, 00000000000000.
2000000 0<E<V,OOO,0000,000000000.

[4-Q3] 100000000

1000 potential 000,z =—co 000000000 0O00O0DOO
OmOOO0OO0OOOOODO:

0 (¢<0:00 1)
Vig)=¢ V>0 (0<z<a:001I) . (5)
0 (z >a:00 II)

oooooOoE>00000000O0,00000000.000000

ooboooOo,b0ooo0oboobo0ooooooobooobo EFOODO.
gboobooooobooo,booooooooboboooa.
000000000000 0U0oo¥w(z)0,0000000000O.

e Hamiltonian 0 OO0 OO0 O0O.

ez — —co 000000, 0000 k> 00wy(z) ~ Aexplika] +
Bexp[—ikz] 000 (000, Aexpltkz] 0 000, Bexp[—ike] O O
ooooo).

ez —» +oo 0ODOODOO,0000 k> 00v%(x) ~ Cexplika] O
00 (000000000, OOooooOo0oooOoOoOooooOoo,
Dexp|-ikz] 00000 DDOD).

2



1. Hamiltonian H = p?/2m+V(z) 0000 FOOODOOODOOO (O
OLILIIooooooo).
Hint. 000000000, 00000000000O0000A0.
2.00,0<E<V,0000000. 00 III0 00000000
O ¢m(e) = Ce* (k>0)000000,000000000 IO
gooooo.
Hint. = 0,00000000000000O00O0O0OO.
3.0000000 I0o0b000ooooo I1oboooa.
4. 0000000
j(m,t)z% \Il(x,t)%\ll(x,t)*—\I/(:U,t)*(%\ll(x,t) (6)
00o00oodboooo. 00 e —-s4c000,000,000,00
0(@00)0000000 ji(z = —0),j.(x = —0), ji(z = +00)
0ooo,00oo R, 0000 TO

e =—00) . e = too)
A TP Al PR p—T )

ooobOo. oobooob. 00000 R+T=1000000
goo. p0O0O0O0O.

[4-Q4] 100000000
Potential O
V(a) = Voad(x) (8)
Ooo0o0ooo,00o00,0o0000000.

Hint. c=0000000,000000000,10000000.000
000000, Schrodinger 0000000, (—e,+¢) 000000
oo.

goodd

[1] 0000,00000 0000 1,2(0000)



